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01 Al 22l 21,888 23,040 A1,152
ONIMSHYa 2SS 7Y
A 4,848,009 4,848 6,000 A1,152
NOl= EXOIME Mot ISE 22 ALY 6,848 7,080 ~202
201 Y2y 1,425 1,500 AT
01 Al 22l 1,425 1,500 AT
O EXOIMES DRSS
2% 1,425,009 1,425 1,500 AT
206 THZ B 2,423 2,550 A2
01 THE Y 2,423 2,550 Al27
O0lM42e 75| DIHDS ME
A 2,423,002 2,423 2,550 A127
EAFA 29 71,406 73,320 A1,914
201 Yer2gy| 29,244 20,677 2433
01 Al 221t 8,244 8,677 N4
OEUA[A 2423
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201 er23| 36,723 37,682 2959
01 At2tltl 18,223 19,182 2959
Oget==8Hl ¥ JIE 10,543 11,502 A959
—dMEH A28 7Y ¥ |2
23 841,000 841 1,800 N959
202 04l 26,460 35,280 28,820




A JI=ES
M AAMRHALI(DI=E221)
&l D122 (CH9: &S1)
SA - B - SA(SH) - MRA - BAS ol &t o H o HDS2
01 204l 26,460 35,280 18,820
OJI22UEENI
E 3 26,460,000 26,460 35,280 28,820
203 BR8] 4,560 4,800 2240
04 EA2ILRFE 4,560 4,800 A240
ORN2IYRFL
Z & 4,560,000 4,560 4,800 2240
R M FA 363,069 370,069 A7,000
RO TAl EE OB Ot 363,069 370,069 A7,000
FEMEsd 2 X 363,069 370,069 A7,000
201 L= 45,000 52,000 A7,000
03 A2 3,000 10,000 A7,000
Ozd+s== 3T Eotal = 3,000 10,000 A7,000
—&Al HEHI 433 0 0 1,000 21,000
— NP 2124 33 0 0 3,000 23,000
—Ig 2 MNRES 43 03 0 1,000 21,000
—S2= ¥ 3 02 0 1,000 21,000
—=2H| 433 oA 0 1,000 21,000
DAS S| sHIHH Lt 500,000 500,000 0
e 250,000 250,000 0
Al 250,000 250,000 0
NeSsta=s 500,000 500,000 0
< 250,000 250,000 0
Al 250,000 250,000 0
XEE Dlefdet XNIASSHEAZ 4 ARG (HEALY) 500,000 500,000 0
< 250,000 250,000 0
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